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2AH: SRS
dd: FotE=2el € XA
ool 3RPE MAAY EX EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 22272l 20,000 11,500 8,500
O=gs3k =224 X2
20,000,000& =14l 20,000
< 4,000
Al 16,000
R 0= XA 763,200 784,080 A 20,880
< 763,200
301 LEd = 763,200 784,080 A 20,880
< 763,200
01 MI2EZE +05l= 763,200 784,080 A 20,880
OZ3E XU =Y 30,000&+2,1202!«12& 763,200
< 763,200
INEEUHAT XJAY 4,488,000 3,156,000 1,332,000
301 LEBEAZ 4,488,000 3,156,000 1,332,000
01 MEI2ZE 05z 4,488,000 3,156,000 1,332,000
OEsdll=¢ 100,000& #3,700Q! x12& 4,440,000
OMZZS 200, 000& »240¢! 48,000
& H XHoH Ab X & 64,000 49,200 14,800
< 53,000
Al 11,000
301 LEMZ 54,000 49,200 4,800
< 48,000
Al 6,000
09 SALAHIX A S 6,000 6,000 0
OZH X =2H A 24
3,000,000& »23| 6,000
12JEEd= 48,000 43,200 4,800
OMIINH 2 SE X 25t E|
48,000,000& =14 48,000
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307 glz2tol & 10,000 0 10,000
< 5,000
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02 It MAHEE 10,000 0 10,000
OXH M A & 29 X
10,000, 000& * 14! 10,000
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Al 5,000
NSAeI =X D82 = 9,715,049 7,756,079 1,958,970
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< 642,693
Al 4,679,241
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= 756,116
< 268,800
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Al 5,250
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= 157,500
< 12,250
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< 12,250
Al 5,250
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= 598,616
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=0 AEANE 29 397,578 342,561 55,017
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AN SXEHD
3 ASAR =K Il =

el =s0lgE0l NN CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
S0 FEAXE ALY 96,470 35,880 60,590
< 28,941
Al 67,529
307 gl2tol & 96,470 35,880 60,590
< 28,941
Al 67,529
11T AIS S RAEE = 96,470 35,880 60,590
OS&etolg==el st X & At
78,300,000& =14 78,300
< 23,490
Al 54,810
OSB0ILF0 HANAZ HSKBAL
18,170, 000& 14 18,170
< 5,451
Al 12,719
AMEI=XEH K& 2,761,295 1,985,896 775,399
= 2,068,979
< 40,326
Al 651,990
AMSISXAESAA SX=& 168,840 131,760 37,080
< 33,768
Al 135,072
301 LB AF 168,840 131,760 37,080
< 33,768
Al 135,072
12 JIEtE& = 168,840 131,760 37,080
OL=0Al4, SEMASZ SAX SX+=E
168,840, 000& 14 168,840
< 33,768
Al 135,072
AMEISXAEEAA 2 9,516 9,880 A 364
< 4,758
Al 4,758
307 21201 A 9,516 9,880 A 364
< 4,758
Al 4,758
06 2= 9,516 9,880 A 364
OA2ISXIAIE SAA &oHES
9,516,000& » 14! 9,516
< 4,758
Al 4,758
MNI=RRE 243 504,960 408,240 96,720
301 LA F 504,960 408,240 96,720
0B M ERRIBHS 504,960 408,240 96,720
OSALZ0F AL SRR3 24 504,960
> SAlH| 6,500 *32001 20 x 12& 499,200
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SXE3
KA ARSI Orgt=2
A2l =S XE 2 X2

B

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
DAaHEE It 18,000& »3202! 5,760
MNI=2RR E= 2,068,979 1,432,416 636,563
= 2,068,979
301 LEPEAZ 2,068,979 1,432,416 636,563
= 2,068,979
0B M ERRIBAS 2,068,979 1,432,416 636,563
OMBI=ZRe8 24 (23, DSH,II=H)
2,068,979,000& 14 2,068,979
= 2,068,979
M Z2XO2 SAX HLHE = 9,000 3,600 5,400
< 1,800
Al 7,200
301 LEHZ 9,000 3,600 5,400
< 1,800
Al 7,200
12 JIEE4 3 9,000 3,600 5,400
OAMZEXII2 SAR(MESXEAS, ALSIE
ZEAM) MM =< 9,000,000& 14! 9,000
< 1,800
Al 7,200
NFAS =X Jlgtxd 3,568,605 2,731,970 836,635
= 477,500
< 197,000
Al 2,894,105
ANAtsl=Xg2s 29 104,000 70,000 34,000
= 29,500
Al 74,500
307 glz2tol & 75,000 70,000 5,000
< 15,000
Al 60,000
10 AL SXAIEEE2EH EX 75,000 70,000 5,000
OXZ At =X 28 75,000,000 14! 75,000
= 15,000
Al 60,000
402 RIZ2EXt20l ™ 29,000 0 29,000
< 14,500
Al 14,500
02 RIZt X2 AL EZ (01X ) 29,000 0 29,000
OXSAE =X s JIsE2 (& XA
29,000,000% = 1CH 29,000
= 14,500
Al 14,500
M3 SXHE=H & A 15,000 15,000 0
307 21201 A 15,000 15,000 0
11T MISAASEX 15,000 15,000 0




P ESANE AL
D NEARI =X OBt E
NG AME ST IRl

(=}

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OMI=EXUHSM £ MsCHS
15,000,000 *14] 15,000
A EXHE 2GR 8,000 10,000 A 2,000
307 212t01 & 8,000 10,000 A 2,000
11T A EXAIEEX 8,000 10,000 A 2,000
OAZEXNUHE 29X 8,000,000& x 14 8,000
A=A A SXHAHSE 101,040 101,040 0
201 et A | 101,040 101,040 0
02 3524t 101,040 101,040 0
O1 2222 < HMA 21,040
DEIR=S 1,000,000& x12& 12,000
DAl E 22 340,000& = 12& 4,080
PHNSRYLRHS 500,000& *13] 500
DARSEHLEA Y StmAYUMFI Y|
700,000& *13] 700
DSs2AI| HIIBAMNEEE 160,000& * 13| 160
> BErrE 100,000& = 12& 1,200
DEIILH a2 200,000& x12& 2,400
O2 dZH| 12,000
> S AIJEA 1,000,000& x12& 12,000
O3 A& &Hl s Xl 68,000
DAE=ZE A2 8,000,000& x 14 8,000
D243 EA 500,000& =23 1,000
DESE(EMEAE) HA
1,000,000& x13] 1,000
DA SXAE AlE228S
56,800, 000& 14! 56,800
DEYALNE B 100,000& *123] 1,200
Ol MRS AH 480 480 0
201 L2 9| 480 480 0
02 352494l 480 480 0
O1 222=2 % HA 480
Dol RS 2N SEEHUIAAY SMAIES
40,000& x12& 480
NAAEEHEAM 29 30,000 25,000 5,000
307 2I2t0| & 30,000 25,000 5,000
11 AMISAAEE X 30,000 25,000 5,000
OXNYGAMIEBEEAM AISIEH AMHFA
30,000, 0003 *14] 30,000
NGEAEHE M &4 35 35,000 45,000 A 10,000
< 7,000
Al 28,000




P ESANE AL
D NEARI =X OBt E
NG AME ST IRl

(=}

SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 35,000 45,000 A 10,000
= 7,000
Al 28,000
10 ALl SXAIEEE 2 H EX 35,000 45,000 A 10,000
OXgGAsIEZEAM 2% 35,000,000 » 14 35,000
< 7,000
Al 28,000
J=ZEYIAMNER2YE 70,000 70,000 0
307 glz2+ol & 70,000 70,000 0
10 ALSISXAIEEE2EHEX 70,000 70,000 0
OJIZ&EYWI3AY 299 70,000
DRAFIZEEYWT 35,000,000 =14l 35,000
DRAFHYINEZZEENS 35,000,000& =14 35,000
ZFCO A Y 115,000 75,000 40,000
< 35,000
Al 80,000
307 21201 A 75,000 75,000 0
< 15,000
Al 60,000
10 ALSISXAIEEE2IHEX 75,000 75,000 0
OFCciz 24 75,000,000& =14 75,000
< 15,000
Al 60,000
402 2I2H X201 M 40,000 0 40,000
< 20,000
Al 20,000
02 QI EALSEZ (OIS ) 40,000 0 40,000
OZFCSOH Jls22(e872Y XNH)
40,000,000& = 1CH 40,000
< 20,000
Al 20,000
FEYIRIATHIXZ 2,000 2,000 0
402 QI2H X201 M 2,000 2,000 0
01 2I2F 2 A B (REMTH ) 2,000 2,000 0
OFtY3 24 &4l XA 2,000
DRAFIZ=FEYT 1,000, 000& =14 1,000
DRAFTHLINEZZEWS 1,000, 000& 14 1,000
S M ER2 X3 2,031,485 2,033,350 A1,865
307 glz2tol & 2,031,485 1,913,350 118,135
10 AL SXAIEEE2EHEX 2,013,485 1,895,350 118,135
OZgAa=x2 29 2,013,485
DOIESSE A EX 2 530,742,000 » 14! 530,742
DEEESSAMISA 2 574,940,000 » 14! 574,940




SN =SXHHD
Ba: (AASI= JBRS

&2 XNFAS =X IS (=& J)
2 S 4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
DRAFTESESAMISA 2 447,555,000 » 14! 447,555
DEASSHESE M= 2
439,248,000 » 14 439,248
DOISSX2(ISUSSAIS SR H)
21,000,000& » 14 21,000
A= XALS 2 = 18,000 18,000 0
O0lS=EXNZ(IISeSSAISXZ) ALS
18,000, 0002 14! 18,000
SEAMNSEXNZ JsES 60,000 0 60,000
< 30,000
Al 30,000
402 RIZERt20l ™ 60,000 0 60,000
< 30,000
Al 30,000
02 QI2t X2 AIA 2= (01X THE) 60,000 0 60,000
OZESE M= = JIsET
60,000,000 » 14! 60,000
< 30,000
Al 30,000
BFAMALZ SEE AL 3,240 3,240 0
201 L2l 3,240 3,240 0
01 At 22l 3,240 3,240 0
O1 get=2Hl 2,400
DRFA AZISEE ALY =4I 2,400
O & 1IH 400,000 *34 1,200
O & &t 400,000& =34 1,200
O3 2d9=¢ 840
DAARIE EAH 70,0003 62! %23 840
E=A A2 EXC SDsE /IS 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 DIZHHALALSE E X 15,000 15,000 0
O FAl Atal=2Xe sHseEAIAS
15,000, 000& * 14 15,000
NS=sXAME A 7,200 7,200 0
202 odl 7,200 7,200 0
01 = LH o4 1l 7,200 7,200 0
OXNG=XgS =8Nl 600,000& »12& 7,200
EA=SXNSSAA2el AAHY 3,000 3,000 0
201 £B-2%H| 3,000 3,000 0
01 At 22/l 3,000 3,000 0
O1 get=&Hl 3,000
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L= B

el

SXE3
KNAA S JlEt =
KNAA =X Jlgtxd

(=}

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
DEEAd22AANY 2E =S|
3,000,000& =14 3,000
S Y=R 13,160 13,160 0
201 £B-2dH| 5,000 5,000 0
01 At 22l 5,000 5,000 0
O1 get==&Hl 5,000
PRGN EAN EE=S HMEH
5,000,000& » 14! 5,000
202 oddl 8,160 8,160 0
01 = LH o4 4l 8,160 8,160 0
OsYd=X L= Yl 600,000& »12& 7,200
OHEEHH R+ 0l
80,000& x101+12& 960
MASE 0IMSX OtAa3 ESAE 955,000 0 955,000
= 477,500
< 95,500
Al 382,000
301 LENF 955,000 0 955,000
= 477,500
< 95,500
Al 382,000
01 MEIBEE 253 955,000 0 955,000
OMASZE OIMEX OtA3 B2
955,000,000& =14 955,000
= 477,500
= 95,500
Al 382,000
HAsSHANS X 1,539,350 1,477,048 62,302
= 1,083,020
< 100,426
Al 355,904
dA2S NHE 33,200 29,200 4,000
201 et 700 700 0
01 At 22l I 700 700 0
O3 2d=¢ 700
DEMNEES 2ERFE A
70,0003 x501+23| 700
307 21201 A 32,500 28,500 4,000
11T ALSI S RAEE = 32,500 28,500 4,000
OANSINMZEI dAZS 32,500,000 » 14! 32,500
22=X K& 1,160,650 1,106,348 54,302
= 928,520
< 46,426
Al 185,704




AN SXEHD
3 ASAR =K Il =

Sl HASHANS X2 (S &2)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
301 LEHZ 1,160,650 1,106,348 54,302
= 928,520
< 46,426
Al 185,704
01 A3l EE E 56l = 1,160,650 1,106,348 54,302
OFAF=2=PN 1,160,650, 000 14 1,160,650
= 928,520
= 46,426
Al 185,704
Tael 28X 108,000 104,000 4,000
< 54,000
Al 54,000
301 LPEAZ 108,000 104,000 4,000
< 54,000
Al 54,000
01 AL EE E 563 108,000 104,000 4,000
Oxtat? 22X 108,000, 000& * 14 108,000
< 54,000
Al 54,000
ERHE N 12,500 12,500 0
201 Let24d] 2,500 2,500 0
03 A2 S HI 2,500 2,500 0
O3y Uszme =& 2,500,000 » 14! 2,500
301 LEXZ 10,000 10,000 0
01 A3l EE E 56l 3 10,000 10,000 0
Oe=lE f28 ¢ 5,000,000& 23] 10,000
ANz SeAtd2el X& 15,000 15,000 0
= 7,500
Al 7,500
201 L2l 7,500 7,500 0
= 3,750
Al 3,750
01 At 22l 7,500 7,500 0
O1 Let==&4| 7,500
DIY=EXNXNIH Setatd 2l 2L =8l
7,500,000& » 14! 7,500
= 3,750
Al 3,750
301 getEd 3 7,500 7,500 0
= 3,750
Al 3,750
01 A3l EE E =56l = 7,500 7,500 0
OSIY=RRNEH SEAMel2el MBI
7,500,000& » 14! 7,500
= 3,750
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L= B
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EPARSE )
KSAAS =R DIt =
NASHAAS N

SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2

| Al 3,750

SHS UFY SEAMHA I&A 210,000 210,000 0
= 147,000
Al 63,000

201 gEt24dy| 118,500 105,000 13,500
= 82,950
Al 35,550

01 AP 22| H| 118,500 105,000 13,500
O1 dtf==2H| 118,500

DESHS SEAdZC2E =2

118,500,000 = 14! 118,500
= 82,950
Al 35,550

301 LEtE M= 91,500 105,000 A 13,500
= 64,050
Al 27,450

01 Al B & A 462 91,500 105,000 A 13,500
OS8HsS S A 22X 91,500,000& = 14! 91,500
= 64,050
Al 27,450

ANEAIRSA A 36,000 36,000 0
o 7,200
Al 28,800

MEEX MRS 36,000 36,000 0
= 7,200
Al 28,800

201 et 9| 36,000 36,000 0
=} 7,200
Al 28,800

01 AR 2t2l ] 36,000 36,000 0
O1 Yet=2Y| 36,000
DAISISERNERS 36,000,000 14! 36,000
=} 7,200
Al 28,800

UTEM EX Y HEM X 520,720 716,480 A 195,760
= 68,560
Al 452,160

ISETNPNE:! 342,800 580,800 A 238,000
= 68,560
Al 274,240

AIFHOF Ol & AHlH &tH| X 342,800 580,800 A 238,000
& 68,560
Al 274,240

301 et A =2 342,800 580,800 A 238,000
& 68,560
Al 274,240




2AH: SRS
HH: N E
el MK CHel & 2 )
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At3I 2 E 342,800 580,800 A 238,000
Onsst 172,800,000 = 14! 172,800
= 34,560
Al 138,240
Oy 170,000, 000& * 14! 170,000
= 34,000
Al 136,000
el 177,920 135,680 42,240
QI EZ JH e 177,920 135,680 42,240
201 LBty 85,040 102,800 A17,760
01 At 22 85,040 102,800 A17,760
O1 A2 80,000
> & BE(MX A8 AEH &)
PNIIES 40,000,000& =14 40,000
> £ 4t g2z
40,000,000& =14 40,000
03 249 5,040
>R 23 HFA&HY
70,000 9021 x43] 2,520
> 8l 15 BALY
70,000 9021 x43] 2,520
202 oddl 2,880 2,880 0
01 S LHOIYI 2,880 2,880 0
O3 240,000& 1228 2,880
301 gt d 60,000 0 60,000
01 At3I 2 H 60,000 0 60,000
O& =0t A& AHS
30,000& +2,000¢! 60,000
307 gl2tol & 30,000 30,000 0
12 212t01 9| 30,000 30,000 0
od=E=x 30,000,000 » 14l 30,000
HE2IZZH(=XNE= 353,370 379,015 A 25,645
= 81,400
Al 271,970
olERIH(=XE 284,692 262,755 21,937
= 81,400
Al 203,292
ol 2AH| 49,074 65,273 A 16,199
101 14 Hl 49,074 65,273 A 16,199
01 2= 47,291 61,794 A 14,503
OAIZHS 10,509& 1521 x300 Al 2t 47,291
03 RI1H < 1,783 3,479 A 1,696




2 S2XNEMY
HM: HYM2HAH (2X ™)
Crel: o2 ol (SN (el @)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Og&az2zLH 1,783
DEIAIA(ESA 14,855& *191 120 A| 2+ 1,783
SHAFEI 22l AL 21 Al K& 235,618 197,482 38,136
=2 81,400
Al 154,218
101 @1 21| 235,618 197,482 38,136
2 81,400
Al 154,218
03 2IAHALZZNHE = 235,618 197,482 38,136
O S E A2l 22| A 235,618
>olE23 2,713,330& 501 x12& 162,800
= 81,400
Al 81,400
> A 2 1,849, 140& x501 x4 3] 36,983
> &M ZAlH| 130,000& *501x12& 7,800
D uWEE X 120,000& *501 x12& 7,200
> HEE Y| 1,109,480& 521 %23| 11,095
DAHEZZ LG 9,740,000& * 14! 9,740
AH(2XE ) 68,678 116,260 N4T,582
=&l 68,678 116,260 NA4T,582
201 Bt A H| 42,918 62,310 N 19,392
01 AtR 22l b 36,528 55,920 A 19,392
O1 Etx=2H| 30,000
DEMESYE =84 1,900,000& *12& 22,800
DIOgEHI EHEH 300, 000& 24 x123] 7,200
O5 =&t 6,528
>Oor2t, 5422 8,000 x1721 x43| x12& 6,528
02 3524t 6,390 6,390 0
O1 Z2Z2A4 ¢ HMA 6,390
DRER= 2,130& *25021 x 12& 6,390
202 04 d| 9,760 14,200 N4, 440
01 2L Y| 9,760 14,200 N4, 440
OJlag® =sodtl 5,760,000& x 14! 5,760
OSXNAHMHAZ2 =X 22/ 04H|l 4,000,000 14! 4,000
203 Y2 =&H| 7,500 11,100 A 3,600
01 J|22H L R=AH| 3,300 3,300 0
OARI=EX =& 3,300,000& » 14! 3,300
04 ENSHLRE=XH| 4,200 7,800 A 3,600
ORNM2IIRF&Y| 350,000& +12& 4,200
405 XH&HF S HI 8,500 28,650 N 20,150
01 JHMY 2= EF S HI 8,500 28,650 AN 20,150




SN ENEYY
B LSRR (SNEHDY)
¢ JI2dH (SR
SN FHE - B(BA) - MRAY - BHES Ol &t o4 il
OPC(2A) 1,300, 0002 *5CH 6,500
OZgH 700,000& = 1CH 700
OLE=(uA) 1,300, 0002 = 1CH 1,300




